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1. A signal x(¢)= 4 cos(2¢) is applied to a system which has the following transfer function
. _ jw .
H(jw) = Totica? Find the output y(2).
Hint: the output will also be sinusoidal.
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2. The following signal is passed through an ideal lowpass filter which blocks all
frequencies above 4kHz, x(t) = 2 + cos 3000t + 2cos (70007mt) + 3sin(12000mt)
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Find the power of the output signal
4+ 2 en (2 (2¢®3)) + 35im (21 Goont)

xc(—):a+as(°—7‘('3'f%)t) <
—
[ L Pry
e oy tenn Hhat plftav\ef“p‘«b Goow > 1
I,aof’ta«»« b N 2 2 é e
L \ A L""”l" 4 = ‘
JJFJ-/WW: (2‘) + * 2z A @

o

3. Obtain the Laplace transform of the following signal. Laplace table attached

3u(t) + 8(t — 5) + e 510 (t - 2)
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Good Luck, Dr. Ali Muqaibel



